BCT REIGR/N 2% @51 72 7€

Modbus RTU Address : 4 4 # (9999)

Address Code Word

Function Range
0000H 03/06H 1 Display indicate Line1 0~9999 = 0000H ~ 270FH
0001H 03/06H L (A
0002H 03/06H 1 Dot point Line 1 01 @ X XXX

02 : XX.XX

03 : XXX.X

04 : XXXX
Modbus RTU Address : 4 1/2 4 $2 (-19999~19999)

Address Code Word Function Range
0000H 03/06H 1 Display indicate Line1 -19999 ~ 19999 = B1E1~4E1FH
0001H 03/06H L (A
0002H 03/06H 1 Dot point Line 1 00 : X.XXXX

01 @ XX. XXX

02 @ XXX.XX

03 @ XXXX.X

04 @ XXXXX
Modbus RTU Address : 5 4 # (99999)

Address Code Word Function Range
0000H 03/06/10H 1 Hi word 00000000H ~ 0001869FH
0001H 03/06/10H 1 Lo word (0~99999)
0002H 03/06H 1 Dot point Line 1 00 @ X XXXX

01 @ XX. XXX
02 : XXX.XX
03 @ XXXX.X
04 : XXXXX




Modbus RTU Address : 6~8 4 #

Address Code Word Function Range
0000H 03/06/10H 1 Display indicate Line1 Hiword 0~99999999
0001H 03/06/10H 1 Display indicate Line1 Lo word
0002H 03/06/10H 1 Reversed
0003H 03/06/10H 1 Reversed
0004H 03/06/10H 1 Dot point line1 11 XXXXXXXX

2 1 XX XXXXXX
3 1 XXX XXXXX
4 1 XXXXXXXX
5 1 XXXXX. XXX
6 1 XXXXXX. XX
7 1 XXXXXXX.X
8 1 XXXXXXXX

Meter Address =00H §F, ABERED, 2% Function code 06H B, 18 Meter N[0 f&E

Example : (Meter Address=01)
Function code : 03H 3& HY Register Data
PC 3%[01 03 00 00 00 02 CRC] Meter [@fE[01 03 04 00 00 00 00 CRC]

Function code : 06H % iF & — {i/ 1t Register Data
PC$%[01 06 00 01 00 03 CRC] Meter @fE[01 06 00 01 00 03 CRC]

Function code : 10H & & Multi {i71If Register Data

PC3x[01 10 00 00 00 05 OA 00 00 01 00 00 00 00 00 00 00 CRC]
Meter [@fE[01 10 00 00 00 05 CRC]

Meter Address=00H [, A EEE D2 ¥ Function code 06-10H 5 3%,{EMeter K~ [0 f&
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